
Calculs de
dérivées

Calcul de f ′ ?

f fonction usuelle

f(x) = c⇝ f ′(x) = 0
f(x) = xα ⇝ f ′(x) = αxα−1

f(x) = ln(x)⇝ f ′(x) = 1
x

f(x) = eax ⇝ f ′(x) = a eax

f(x) = au(x) + bv(x) f ′(x) = au′(x) + bv′(x)

f(x) = u(x)× v(x) f ′(x) = u′(x)× v(x) + u(x)× v′(x)

f(x) = u(x)
v(x) f ′(x) = u′(x)v(x)−u(x)v′(x)

v(x)2

f(x) = u(x)α f ′(x) = αu′(x)u(x)α−1

f(x) = ln(u(x)) f ′(x) = u′(x)
u(x)

f(x) = eu(x) f ′(x) = u′(x) eu(x)

f est définie
différemnt

pour x0 et pour x ̸= x0

f ′(x0) = lim
x→x0

f(x)−f(x0)
x−x0
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Calculs de u ′, v ′

oui
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